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QUESTION 1

Which statements are TRUE about importing SAS Contextual Analysis projects into SAS Visual Text Analytics when
creating a new project? (Choose two)

A. All custom concept and some predefined concept settings are imported
B. All machine generated topics and sentiment scores are imported

C. All custom categories are imported

D. All sentiment classification and probability scores are imported

Correct Answer: BC

QUESTION 2
Which statement is TRUE regarding the impact of node placement"?

A. When a Concept node appears after a Text Parsing node, only kept terms derived by the Text Parsing node can be
used in concept creation

B. When a Concept node is placed after a Text Parsing node: the term table is affected by the concepts defined in the
Concept node and the concepts impact every node that follows the Concept node

C. When the Concept node appears before the Text Parsing node in the pipeline, the spell- checking features of the
Concept node produce parent and child terms that show up as synonyms in the term table created by the Text Parsing
node

D. When a Concept node is placed before a Text Parsing node the term table is affected by the concepts defined in the
Concept node and the concepts impact every node that follows the Text Parsing node

Correct Answer: C

QUESTION 3

Refer to the exhibit.
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Diagnostic Metrics for Automatically Generated Categories

Valus

Metric B FMeaswre B Precsion B Recs

What is the false negative rate for the category that has the 2nd worst average measurel?
A. Between 1 and 2 B. Less than 1

C. Between 2 and 3

D. Greater than 5

Correct Answer: C

QUESTION 4

("Not*: This is an interactive item Follow the instructions to answer the question Scroll bars may appear if the windows
are too small Each window can be re-sized by dragging on the 5 circles located between windows) Complete the
statement on the right with the options on the left.

Select and Place:

Cross-corelation
Convolution Answer Area

Linear operaton

Nonlinear operation The combination functon used by a convolution filter is a |

Scale-invanant operaton

which is considered to be a |

Correct Answer:
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Convolution Answer Arsa

Nonlinear operation The combination funcion used by a convolution filter is a Linear operaton
Scale-invanant operaton

which is considered to be a Cross-correlation ]

QUESTION 5
Assume:

*

You have images In directories user/animals/cats and/user/animals/dogs

*
You have a path caslib with name that points to the directory /user.

* caslib="‘alib’
* path="animals’
* racurse=Trus IN your action call

What value can you use for the LabelLevels parameter of the laodimage action to obtains the string cats and dogs in the
_label column of the output table?

A.2
B.0
C. "All"
D.1

Correct Answer: C
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